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1 =t 1 KR FBTAF 30 34 64
2 FE LR 1 KR FBTAF 33 33 66
3T TREGH 1 KR FBTAF 34 33 67
3T F e T8 3 EEE AT 34 33 67
3T NFEZ 1 iR = 31 36 67
6 THLZE 3 iR = 34 34 68
7 AR A 1 KR FBTAF 32 37 69
8T FUEERE 1 EafispN=a 37 33 70
8T HEF 3 RS N=2 36 34 70
8T AR 1 EafispN=a 36 34 70
8T HPE+ 1 KR FBTAF 35 35 70
8T [ 1Ly sE R 3 B N=a 35 35 70
8T FLE 2 BRI AF 34 36 70
8T INF KA 1 KR F BT AT 33 37 70
15T UEREES 4 Eaicls S NE 39 32 71
15T IR E 4 KEREFEKRT 36 35 71
15T RA—H 3 FRAF 36 35 71
15T fE4 KEFR 4 iR = 36 35 71
15T LAER = 3 gy N= 35 36 71
15T R s 4 EafispN=a 35 36 71
21 A P KA 2 RS N=2 36 36 72
22T ERZA 1 iR =2 37 36 73
22T PURLIE AR BB 2 EREFRAT 36 37 73
22T T R— 1 AFHIAF 36 37 73
22T [l sk zaRe) 2 Iy NEa 36 37 73
22T BWATE 1 KR F BT AT 35 38 73
27T IRIH= 3 AVA):Ep N 39 35 74
27T CH® 2 T AEERE 38 36 74




27T ERLEELN 4 EEE AT 38 36 74
27T AN 3 Eaitle NG 37 37 74
27T mHEEK 3 PR N= 36 38 74
27T 1= S: 1 AVATH:pNEa 35 39 74
33T STEE 1 TERFEAF 39 36 75
33T BNIAH 1 KR F BT AT 36 39 75
35 &t 1 AFHIAZF 40 36 76
36T BARERR 2 TERFE AR 41 36 77
36T NNHR— 4 R FRAF 39 38 77
36T ZiLKHE 3 Iy NEa 39 38 77
36T MRIE R 4 RPN 38 39 77
40T HEC 3 EafispN=a 40 38 78
40T A A 2 KIREZFEKRF 35 43 78
42T A _EIAA 2 Sl NE 44 35 79
42T =P 2 SN 44 35 79
42T ks e 2 AT 43 36 79
45T DK 1 TERFEARF 44 36 80
UEDEDKRG(RBAZAT) ZF THERZE IV 7 EFEOHIGIELXES L L1,
45T AL 4 RS N=2 41 39 80
45T FRERK 4 N EEERF 41 39 80
45T AU Shs 2 I NEa 40 40 80
45T L& 3 I NEa 40 40 80
45T LR 4 KIREZHEKRF 40 40 80
45T KBVt 4 EELKF 39 41 80
52T ke 4 Eaicls S NE 43 38 81
52T REAEKRER 1 EELKF 41 40 81
52T AR 2 KR F BT AT 41 40 81
52T PRBEE 3 Rl F TR F 41 40 81
52T T E 1 iR = 41 40 81
57T INBREHLA 4 BRI AF 45 37 82
57T A5 3 R FRAF 42 40 82
57T & TR 1 AFHIAZ 41 41 82
57T MRFHR 3 Eaitls S NE 41 41 82
61T FEFITHE 2 KOREZHEKRZF 42 41 83
61T |R&JIEXED 1 BRI AR 41 42 83
61T 785 2K ER 1 iR =2 38 45 83
61T TIEE-UN 1 EREFRAT 38 45 83
65T LEER 4 AVATH - N=a 45 39 84
65T AR EF 3 SN 44 40 84




67T MNHZRE 3 I AEERE 50 36 86
67T IRARE A 1 RFHIRF 43 43 86
69 BB 2 RIREEKRF 42 45 87
70 EINEIPN 2 FArRARSF 46 44 90
71 AR 2 LA EERE 47 46 93
72 paRii)zzh=y 1 RFHIRF 47 47 94
73 JRMEN 3 AR 49 47 96
74 Wl {& 52 3 AIERC NS 51 46 97
75 INGEZY 3 HEFRERF 50 48 98
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